(2)

3)
4
(5}
(6)

- 2.

. Con. 93-15. Foundatian CoUnse - SD-2415
@3 Hours) | [ Total Marks : 100
NB.: (1} Attempt any three guestions from qnestlon No. 1 to question § from o

section I
Attempt any three questzons from Question No. 7 to Quesizon No lifrom

© section I,

Question 6 in sections 1 is compulsory.

‘Question 12 in section 11 is compulsory.

Figure to the right indicate full marks. _
Both the section should be written in the same answer book.

SECTION -1

1. ‘'Indian society is multi-cultural in nature'. Discuss. | 12

2. Discuss the different types of vioience faced by women in India. .. 12

3. Write a detailed note on the problem of regzonahsm Explain the measures to 12
overcome the problem of ianguage éafference

4. Explain the various features of Indian constitution. : L »

5. Explain the classification of political parties in India ? Dzscuss in brwf various 12
problems faced by Indian political parties. '

6. Write short notes on the following (any two): _ | 4

(a) Effects and controlling measures of smoking.
(b) Effects of HIV/AIDS on Indian society
(¢} Washoutofchild labour |
Measures adopted for the welfare of the senior citizens.

(d)

TURN OVER
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SECTION - H
7. Define privatization and explain features of privatization. o | 2

8. Give details information of the universal declaration of human rights and articles 12
of it. ' i

9. - Define environment and explain the forms of environmental degradation. 12

10. What are the major causes of conflict ? Briefly discuss the various ways of 12
resolving social conilicts. -

11. Explain the terms 'Realistic goal setting'. Discuss the factors that influence realistic 12
goal setting.

12, Write short notes on the following {(any two) : 14
(a) Maslow's theory of self actualisation -
(b)  Globalisation and changes in agrarian sector
(¢} Causes of migration B
(d)  Effect ofurbanisation on health. -
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Con. 94-1 5. Dw2428
| (OLD COURSE)
(3 Hours) [Total Marks : 100

N.B. : (1) Answer to two sections should be written in the same answer book
(2) Figures to the right indicate full marks.

Section ~ I
(a) Define communication. Discuss the 1mp{}rtance of commumcatzon in bnsmvss 8
OR

Write short notes on any two of the following :
(i) Communication cycle.
(it) Written and oral communication. _
(iii) Barriersto Commumcatlon
(iv) Internet and e-mail.
(b) Whatis conference 7 Explain the ments and demerits of conference . i
OR '
Write short notes on any two of the following :
(i) Internal Public Relations
(it} - Upward Communication
(iii) Listening as an art
(iv) Job Selection Interview

2. Write notes on any three of the following : o R 15
(@  Group Discussion

(b) Horizontal Communication

(¢) Languvage as a barrier to communicaiion

(d) Public relations - :

{a)t i What isa meetmg ? State the advantages and dzsadvantages of a meetmg © 10
(b) Whatis public relations ? Discuss the important functwns of publzc reiatmz}s
activities." : ‘

4. Draft anotice and ani Agenda of the first Board meeting of a company and also draﬁ 8
the resohutions of the following : :
(a)  Appointment of Auditor
(b)  Appointmnet of Bankers

TURN OVER
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3.

(®)

(b)

(a)

(®)

(a)

(b)

(a)

(®

Section - I1

Write a letter of application in response to the following advrtisement. "Wanted
Clerks-cum-typist, should be a graduate and knowledge of computer operation
is a must. Minimum two years experience is a required. Write to Box No.
2132 C/o. The Times of India, D.N. Road, Fort, Mumbai - 400001. (Give your
Bio-Data)

: OR

" Draft an open testimonial for your personal assistant who has applied for the

post of a steno-cum-receptionist in your office.
Write a complaint letter to the wholesaler stating that the order you placed
for the goods is different in quality from that you have received.
OR
As a retailer of electronics, write a letter of order for computers to be placed

- with Spark Electronics Company Limited, Mumbai. Ask for prompt service.

Drafta saies letter to promote the sale of any one of the foElowmg
(i) A luxury carpet
{ii) A healthtonic
(iii) An economy refrigerator - _
You had placed an order for "quality fruits” and the supplier had promised fo
deliver them within 24 hours. They have not been delivered even after three
days. Write a complaint letter.. :

You have been invited by a social work organisation to inaugurate a medical
aid centre for the poor and needy people in your area. Write a letter accepting
the invitation and appreciation of the social service done by the organisation.
Shah and Sangvi, Aurangabad have placed an order with you of Rs. 90,000/~
and have asked for credits of 6 months. Your inquiries reveal that it is not safe
to grant them credit for such a big amount. Write a reply granting them parital
credit,

Write a report on the possibility of opening a Zerox Centre in your college

premises.

OR :
A plastic factory for which you are a manager has been damaged by fire. Draft
areport to be submitted to your directors informing them of the accident and
your preliminary findings.

TURNOVER
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(REVISED COURSE)

(3 Hours) [Tetal Marks: 100

N.B. : (1) All questions are compuisory.

(2) Figures to the right indicate full marks.

(a) Correct the following sentences.
(i) He is satisfied in may work,
- (i) Iwalkovertheroad.
(iii) Rhodarun fast
{(b) Fill inthe blanks:
(i) The understanding response fz:om the listerner to the speaker is

called (feedback, message)

(ii) is the most important objective of communication
{information, motivation)

(iil) Interviewisa communication. (one way, two way).

Write notes on any four of the following :
(a) Feedback (b) Report {c) Agenda
(d) Interview (¢} Encoding () Horizontal Communication

(a) Explain with examples, the language as a barrier to communication.
OR
(b) Discuss in detail any two types of Interviews.

Write a letter of application in response to the following advertisement "Wanted
Clerks-cum-typist, Candidate should be a graduate smart and result-oriented.
Knowledge of computer's preferred. Write to Box No. 3800 C/o. The Times of India,
D.N. Road, Fort, Mumbai - 40000 1. (Give your Bio-Data)

. - Write any four letters of the following :

(a) Write a sales letter to promote the sale of a smartphone,

{(b) Mrs. Jain has asked for replacement of her washing machine which caught
fire as soon as it was switched on.

(¢) Assume that you are working as an accountant at Jindal Company. Now
you want to pursue your further study. Draft a resignation letter addressed
to the company.

{d) Youhave purchaseda smartphone and it is not working smoothly. Write
a redressal letter.

(¢) You had placed on order for 25 micro ovens by paying Rs. 1,50, 000/-.
The supplier had promised to deliver your order within 7 days. You have
not received them even after 10 days. Write a complaint letter.

TURNOVER
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(b)

(b)

(f) Youhave applied for N.O.C. for aplot of land at Karjat. You have made
several visits to the concerned office, but in vain. Draft RTI querries for
the above situation.

Draft an individual report forthe bad conditions of roads in your suburb.
Draft the Notice and Agenda of the Annual General Body meeting of a company.
Also draft carefully worded resolutions for any two items on the Agenda.

A committee has been appointed to investigate the causes of decline in sales
of your company’s products. Write a report. -

. ‘ OR
For the academic year 2014-2015 a committee has been appointed to look
into the causes of the decline in results at Central University examinations.
Draftareport.

B M e R e TR e e e W W T A e .
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Con. 96-15. Pare $D-2369
~ (OLD COURSE) |
(3 Hours) [ Total Marks : 100

N.B.: (1) Question No.1 and 7 are compulsory.
{2) Besides compuisory questions answer any two questzons from earch section.
{3) Figures to the right indicate full marks.. :

SECTION - 1

1. (28) Define the following (any four): P i R
(i} Elasticity of Demand |
(i) Production function
(iii) Internal Economies |
(iv) Socialcost
(v} Total cost _
(vi) Opportunity cost

(b) Distinguish between (any two) : R R A
(i) Income and Cross elasticity of demand IR
(il) Fixed cost and Variable cost
(i) Short-runand Long-run production function

2. (a) Explainthe properties of indifference curve. =~~~ s Bl

(b) Write a note on income effect L e B
3. Explain various methods of demand forecasting. T T | PO
4, (a) Explain the law of variable proportions .. 8

(b) Explain the properties of iso-quant _ . 8
5. (a) Discuss various concepts of cost I - 8

(b) Write an explanatory note on Long Run Average Cost Curve. 8
6. Write notes on {any two) : 16

(a) Consumer's surplus

(b)  Producer's surplus

{c) I_,eamifzg curve

(d) External Economies
o o TURN OVER
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'SECTION - Ii

7.(a) ‘Define the following (any four) : - 2
- (i}. Monopoly -
(i) ~ Oligopoly .
(iii) Product dtfferentiatlon | -
(iv) Capital Budgeting
(v} Dumping
: (vi) Investmentcriteria _ :
(b Distmgmsh between (any two) : 6
(i) . Firm and Industry _ '
(ii) Production cost and Selling cost
(iii) Pay back period and Net Present Value method.

8. (a) What are the features of perfect cornpetition ¥ 8
(b). Explain long run equillibrium of a firm under perfect competition. 8
9. (8) Discuss features of monopoly. '
(b) Explain equilibrium of a firm under monopolistic competition. 8
10. Explain different methods of pricing. - g 16
11.(a) Explain the i-mpbf_t#nce of capital budgeting. _ 8
(b). Discuss Internal Rate of Return method. : 8
., IZ.ngfe notes on (any two) : - | | 16

(a) Objectives of firm
. (b) Features of oligopoly
. (¢)  Types of price discrimination
(d)  Problems of capital budgeting.
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(REVISED COURSE) -

(3 Hours) - [ Total Marks : 100

N.B.: (1) Quesin No.1 and 7 are compulsory.

(2) Besides compulsory questions answer any two qaéstionéﬁ*om each scétio_n.

{3) Figures to the right indicate full marks.
SECTION -1

1. (a) Define the following (any four):
(i) Demand function
(i) Production function
(iii) Total revenue
(iv) Budgetline
(v) Demand forecasting.
(vi) Breakeven point

(b) Distinguish between (any two):
() Income and cross eIastzmty of demand
(ii) Fixed cost and variable cost
(il)) Average Revenue and marginal revenue.

2. (a) Discuss vaious determinants of demand
“(b) Explain the concept of consumer surplus with the help of diagram. .

3. (a) Write a note on law of variable pro}:ért-ions,
(b) What are the economies and diseconomies of scale ?

4, Explain various obje’t:tives of a firm.

5, (a) Expiam different concepts of revenue
(b) ' Discuss fully the concept of ‘break even anaiyms

6. Write short notes on (any two) : .
(a)  Importance of demand fcrecastln g
(b)  Types of elasticity of demand
() Producer's surplus
(d) Returnstoscale

TURNOVER
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7. ()

(b)

8. (a)
(b)

9. (a)

(b)

10.(a)
®

1 _1;(a_)
- ®

12.(a)

SECTION - II

Define the following (any four):
(i) Monopoly
{ii) - Selling cost
(iii} Price discrimination
(iv) Public goods
(v) Capital budgeting
(vi) = First degree price discrimination

Distinguish between (any two) :
(iy Firm and Industry
(iiy Marginl cost pricing and Transfer pricing
(iii) Pay Back period and Net Present Value method.

Discuss important features of perfect competition.
Explain lon-run equilibrium of monopoly firm.

Exlain various objectives of pricing policy
Discuss any two methods of pricing.

Discuss significance of capital budgeting.
What are the problems involved in capital budgeting ?

What are the features of monopolistic competition ?
Explain the wastes under monopolistic competition.

Write short notes (any two) :
(a) Product differentiation
(b) Dumping
(¢) Kinked demand curve
(d) Stages of capital budgeting.

TURNOVER
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~ Con. 97-15. 1 SD-2421
(OLD COURSE) - -
(3 Hours) o : [Total Marks : 100

(1) All questions are compulsory.
{(2) Figures to the right indicate full marks,
(3 Answers of both the section should be written in the same answer sheet

\_ Section -1 .- ' - _
1. Explain the meaning of the following terms. (any five) . | 10
{a) Industry (b) Mission '
(c) Techonological environment (&) Mergér ‘
(¢) Three-fold objectives ()  Feasibility study
{g) Business growth (h) Profit
2. Answer any three questions from the following : 30

(a) Whatis business ? Explain the function of business.
(b} Give the meaning of business environment and explain its features.
{c¢) Distinguish between economic objectives and social objectives, -
{d) State and explain the steps involved in setting up a business unit.
{e) Whatare the challenges faced by Indian entrepreneurs ? Discuss.
{f) Define the terms 'Turnaround’ . When is turnamund is needed ? Explain.

3. Study the case in detail and answer the folfowmg questzons - 10
~ Nirmala Pandhare after completion of her M.Sc. degree from {vaersxty
. of Mumbai decided to start hier own business instead of doing a job. For that,

she took training of manufacturing washing powder product. She thought that

“there will be good demand for her product so she invested a huge amount of

Rs. 25 lakhs. She collects required material & resources. Later on she realised

that there is stiff competition in this field. She also came to know that MNCs

| are also entered in the field. Therefore now, it was a great challenge for her to

stay in the field & survive.

Questions : (a) - Is it the right decision taken by Nirmala Phandare to manufacture

| ~ washing powder 7 Explain. : :

{b) How wzii she survive in such a stiff compeutzen ?
Section II

4. Exp!:ain the méaning of the failcwing terms (any five) _ 10

(a) Banking System (b) BPO

(¢} E-communication {d) DoubleInsurance

{e} DevelopmentBank ' (f) Call centers

(g) Medical Tourism (h)  Ethicsin Retailing.
' TURN OVER
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5. Answer any three questions from the following. 30
~ (a) Whatare the various principles of Insurance ? Explain.
(b} Distinguish between organised and unorganised retailing,
(c) What are career options available in transport sector 7
(d) "Outspurcing has bright prospects in India” . Discuss this statement.
(e) Explain the functions of merchant banking.
(f) What are the features of bank customer relationship ? Explain.

6. Study the case and answer the following questions. ' 10
Research and Development (R&D) is now considered the new star of the Indian
economy. Americans who worry about the migration of call centres to India
also consider rise of R& D in India as a potential threat. American companies

- are now setting up R& D centres in India. They are not coming for cheap labour

but for India's brain. The list of MNCs setting up R & D centres in India includes
General Electric, Microsoft, IBM, Cisco, Intel, General Motors, Astra Zeneca,
Motorola, Taxas Instruments etc. GE does research in Bangalore on aircraft
engines and turbine components. This is helping to reverse the supposed brain
drain. Several Indian scientists who had migrated to US are coming back to India.
GE plans toraise R & D staff from 1,600 to 2,400 technicians. Bangalore has
GE's second largest research centre in the world. :
The best known Indian R & D companies are in Pharmacuticals. Biotechnology
is a now hot spot with Biscon and Shanta Biotech leading the way. Less high
profile but more significant may be the mushrooming of new companies to do
contract R & D for global corporations.
The auto industry is another beehive of innovation. Muitmatzonai car companies
originally came to India for the huge domestic market. In order fo cut costs
they used local components of lower quality. But soon the interaction between
component manufactures and MNC's led to not just quality improvement but
innovations that nobody had dreamed of earlier.

Questmns (&) How R& D has occupzed the status of star industry in India ? Give

1€asons
(b) Why is mushrooming of R & I in India favoured by MINCs 7

TURNOVER
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(REVISED COURSE) |
(3 Hours) _ - [Tetal Marks : 160

N.B.: (1) All questions are compalsory.-
(2) Figures to the right indicate fall marks.
(3) Answers of both the sectlfm should be written in the same answer sheet.

_ Section - _ . .
1. Answerany two from the following : o ' 29
' (a) Define the term business. Explain the features of business.
- (b) Discuss the steps involved in setting business objectives.
" (¢) What is Business environment? Explain the importance of business
environment.
(d) Explain the component of external environment in detail.

2. Answer any two from the following : 20
(a) Distinguish between project report and feasibility report.
(b) Explain the factors affecting location of business units.
(¢) What is importance of entrepreneurship ? Explain.
(d) Describe the problems faced by woman entrepreneurs in India 7

3. Write short notes (ANY TWO) . - ' 10
{a) Economic Objectives : '
. {b) Liberlization
(¢) Project Planning
id) Qualities of an entrepreneur

Section {1

4. Answer any two from the following : ' 20
f[a) What is service 7 Bring out its features.
{b) Discuss the challenges faced by service sectors in India.
{c) What are the carger options available in the field of retaximg‘?
(d) What are the factors responsible for the growth of organzsmg retazimg in
: India ?

5. Answer any two from the following. | 20
{a) Explain the importance of logistics. '
{b) Whatis ATM ? Explain its advantages.
(¢) Define the terin B-commerce. Explain the limitations of B»commerce
(d) Whatare the types of E-commerce ? Explain B2B form of E-commerce. -

TURN OVER
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6. Write short notes (ANY TWOQ) _ it
(a) Physical evidence )
{b) - Store format
(c¢) BPO
(d) On-line marketing researh
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| | (3 Hours) . . [Total Maz‘ks 100
N B (1) Questmn No 1,2 and 3 of Sectzcn I and Questmn Nos. 7, 8 and 9 of Sectwn II are
_compulsory.

(2) Attempt any one question from question Nos. 4 5 and 6 of Sectz:m 1 and any one
 question from question Nos, 10, 11 and 12 from Sectmn IL
(3) Figures to the right indicate full marks. '

_ Sectzon | : . .
1. (a) Smdy the warld map gwen below and answcr the foiiowmg quesnons - . 5

(i) What is the theme of the map '?
(if) Which- cartographic technique is used to represent the theme 7
(iii) With the. hcip of the scale, find out the percentage ef populatlon between_
the age group of 15-64 years in Argentina. :
(iv) Withrthe help of the scale fi nd out the percentage of senior cmzens m North~' _
- American countries.
(v) State the composition of ’Age Structure' in Indxa

{b) Mark and Name the foilowing on the outline May of 'th_e World =~ | 5
(i) An 'earthquake' prone island in Far-East Asia. R o
(ii) Part of India with economic water scarcity. _
(i} A country in Africa with very high Deforestatzon rate.
(iv) A sea Expcnencmg 0il spill.

) An Eur()pean country facmg probiem of ’Aczd rain'. _ S
[TURN OVER
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2 Write short notes (any three) e ' s
(a) Carbon cycle
(b) Importance of Forests
(¢) . Water Conservation
(d) Human Resources
(c) Solar Energy

3 Read the foiiowmg 'Case Study' and answer the qucshons asked ~ | 10
‘India is one of few countries in the world, with well established nuclear pianis The
nuclear reactors established in Maharashtra, Tamil Nadu, Rajasthan; Uttarpradesh and
Karnataka have boosted India's economy and has contributed to its growth and given
us international recog,mtmn The nuclear energy generated in these reactors has helped
. India resolve power crisis in various states. The benefits derived from nuclear energy
are multifold — from gamma radiation to improve the quality and life of vegetables
~ to producing cancer drugs, nuclear energy has played a pivotal role. Qur ability to
produce and test the atom bomb was both appreciated and envied by its neighboring
and first world countries into the classic case of Chernobyl or bombmg of Hiroshima
and Nagasaki cannot be over looked. The dangerous of radiailons are immeasurable
and leads to liuge human and material loss.

@

(a) Name five nuclear reactors of India.
(b) What are the dangers of radiations 7 3
(c)' What are the benefits of nuclear energy 7 o 4
4 (a) Explain the important components of the environment. | N .8- : o
- {b) Descrzbe the 'Hydroiogwai Cycie _ 7
50 (@) hxplam the.various types of Natural Resources. : s 8
_.(b) Expiam the various uses of Forests o 7
6. (ay £xpiam the concept of Mainutrztm . 8
(b) Descnbe the Human Deveiopmcnt Index (I{Di) . : 7
Section II
7. (a) Mark and Name the following in outline map of Mumbai' - 5
- (i) A creek lies between Mumbai Main and Suburbs of Mumbai. "
(i) The Northern most Hill of Greater Mumbai.
(iii) The Largest Green Forest' area of North Mumbai.
(iv) A Famous beach in the North-Western part of Mumbm
(v) An Entamationai ‘Adrport’ of Mumbai. -
[TURN OVER
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(b) Mark and name the following: fcatures on the eaﬁmc map {}f ‘Kcnkan -
(i) Northern most District’ of Konkan. - L - SRR
(ii) A famous "Hill Station' of Raigad dzstrict :
(iii) A famous sea shore pzignmage centre.of: Ramagxri distrzct
(iv) Famous 'Fishing Port’ of Sindhudurg district: .
™) Hzghiy polluted river of Raigad district.

8 Wrzte short notes (any three) — B - 15
() Desertification ..~ T '
(b) Special Fconomic Zone (SFZ)
(c) Medical Tourism in India
- (d) Chipko Movement
(e} - Noise Pollution.

9. Read the following 'Case Study' and answer the question asked == 10

“When it rains, it pours acid in Pune. : '

Analysis of rainwater quality over the decade iri Pune by the Indian Meteoroiogzcai
Department (IMD) shows a disturbing rise in levels of acid in rainwater.

A study by Dr. Jayant Sarkar, Director, Air Pollution Unit IMD, and VK Soni, a
meteorologist with IMD, Pune, shows a substantial rise in suiphatc and nztrate
concentration in rainwater in almost all parts of the country..

Meteorologists say there is no need fo panic yet, but envzronmentahsts'wam that the
trend, if not checked now, may pose a grave risk to public health. ,
Analysis of the sample reveals the mean sulphate. concentration in rainwater at Pune
rose from 0-94 mgl in 1986-95 to 1.62 mgl in 1996-2005, while nitrate went up from -
2-43 mgl to 3.04 mgl. The study attributes t%m mcrcase to rapzd mdnsmaizsatzon fmd _
urbamsatzon in and around the city.

Scientists at the National Environmental {'.ngmeenng Research Insutute (NEER}),

Nagpur, warn that the low pH levels (acidity) in rainwater may affect human health,
vegetation, forests and aquatic life adversely. Research has shown a rise in ‘the

~frequency of chest cold, cough and allergies. High acid con’zem in ramwater may
poiiute ground water, zmpactmg farm yield a.nd quai:ty

* Questions :—

S S

(a) What are finding of a study undertaken by meteoroiogxst regardm g rams in ?une 9
(b) Why is it rain in Pune becoming more and more acidic 7=~
(¢) According to NFLRI what W1H be impact of Acid rain on man and environment.
in Pune 7 SR
(d) Write 10 {0 15 lines about Amd ra.m~1ts orzgm, areas and effects 4
[TURN OVER
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10. (2) Ex_piain. the role of Pre' and 'Post' Disaster Management. |

- (b) Expiain the causes and consequences 'o_f’FIood..' o a 7
11. (a) Explain the need of Enwronzncmal Management 8

' (b) Write a note on 'Fco—tonnsm 2 7

12, Expiammb:ciefw_ o S | .8

(i) Wild Life Protection Act -~ 1972
(i1) The Air (Preventxon and Controi of P(}Hntmn) Act — 1981 .
(b) Write a note on — - _ . - . 7
~ 'Solid Waste Management'. - '

[TURN OVER
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(3 Hours) | Total Marks :

B.: (1) Answers any two questions from Section-I

1. (a)
(b)
©
@

2. {a)

(b)

(2) Answer any three questions from Section-II
(3) Write Section-I and Section-II separately on same answer book

~ (4) All questions carry equal marks

(3) Figures to the right indicate full marks to a sub-question
(6) Graph papers will be provided on request .
(7)  Use of non-programmable calculator is allowed.

SECTION -1
A merchant instruct his agent to buy 5000 umbrella's. The agent gets 1%
commission on purchase and 2% commission on the sales. He earns Rs.1380/

- as a total commission. Find the price at which the agent buys an umbrella,

A trader allows 30% discount- on the market price and further discount of 12%

_ on cash payment. Find the net selling price of an article which is listed for

Rs.1500/-

A flat is sold for Rs.60,00,000/- _thréugh an estate agent who charges 2.5%

brokerage on purchase and 2% brokerage on the sales. Find the amount paid

by the buyer. Find also the amounts received by the seller and the broker.

Mr. Sahil, Mr.Soham and Mr.Mahesh shared a trasport business by investing -
Rs.2lakhs each, Mr. Sahil left after 5 months from the commencement of business

R el

sn-2318

160

W

arid Mr.Soham left 3 months later. AT the end of the year the business realised

a profit of Rs.75,000/-. Find the share of profit of each partner.

A '?A’}Z‘A company produces two products Car and Jeep. The proﬁts for per
Car and per Jeep Rs.50 thousand and Rs.75 thousand respectively. The
companyhas two machines M1 & M2 which are maximuin available for 150hrs.
and 200 hrs, respectively, One Car requires 12hrs. in M1 and 18 hrs. in M2.
One jeep requires 15 hrs. in M1 and20hrs. in M2. Formulate the linear
programming problem to maximise the profit, :

M. Aniket purchased 300 shares of Hindustan Liver Limited Company at the
market price 0f Rs.1600/- each. Before the record date for dividend declaration.
The company declared 40% dividend on the face value of the share Rs.100/-

[TURN OVER
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Aﬁef one year he sold all the shares at the market price 0of Rs.2000/-each. He 5
paid 8% brokerage on both the transactions. Fmd the total prof it in this
fransaction. '
(¢} Mr. Pratik mvested Rs.50 thousand ina Rehance mutual fund on 28th Iamzary
2013 with NAV of Rs.110/- and eniry load 2.2% ofa NAV, he sold all the units 5
on 21st December 2013with a NAV of Rs.150 with exit load 2% find his total
profit. _
(d) Minimise Z = 4x + 5y, Subjecttox+y>5 2x+y>8,x> 0 y>0solveit g -
bygraphically.

. (@) Find the derivateive of gsveu function wzth respect to X, y = (2 Logx + 4¢%) _
(5% - 12x +4) 5

(b) The demand function si given by P = 4D*.3D% 2D +35, find total revenue,
average revenue and marginal revenue if D =3, |

(¢) The total cost function is given by C = x* - 12x + 144, Find total cost, - 5
averagecost, marginal cost and marginal average costif x = 10. ~

. (&) In how many years will 2 sum of money doubles it self at 8% P.A. rate of =
interest using simple interest, R

{(b) Sum of Rs.20000/- invested for 3 years at the rate of 12% P.A. find the totai' 3
ﬁ amount if interest compounded (i) yearly (ii) quarterly. _
20 Find the amount at the end of one year of an annuity of Rs.4000/- payanbie 5.
quarterly rate of interest being 12% P.A.
{d) A person borrows Rs.1,20,000 from a bank for a period of 8 months. Compzzte o
the EMI (i) 12% on flat rate of interest {(ii) 12% P.A. on the reducing balance. - | o

SECTION - I S

. (a) Define statistics and uses of statistics,

'(b) Thetotal number of students in a college in Arts. Commerce and Science are _

240,780 and 480 respectively. In Arts number of girls are 160, In commerce
numbers of Boys aremore than 80 by number of Girls. In science numberof 7
Girls are double than number of Boys Tabulate thc above 1nfcrmatzon ina
suitable tabular form. : '

(c) Caicuia’se mode graphically for the foiiowmg data :

Class 0-10 { 10-20{20-30(30-40{40-50|50-60
Frequency | 9 16 122 126 124 |13
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3
6. (a) Find percentage bar diagram from he budget of the family is given by:
Items ‘Food Ciéthing "Rent | Light & Fuel Miscellaneous
Expenditure 1600 800 600 ;200 800 '

(b) -Find mean and mean deviation for the following data :

Class 0-50 | 50-100 | 100-150 150-200 200-250 | 250-300
Frequency [10 14 124 26 10 06

(¢) ‘Find three quartiles Q, Q, Q, for the following data :

Class 10-19 | 20-29 | 30-39 40-49 50-59 60-69
Frequencyl}7 14 | 18 20 16 | 5

7, () Write a short note on (i) Random Expeirment (ii) Sample (iii) Events
(b) Two cards are drawn from $2playing cards. Find the probability that:

(i) Both are black cards (ii) Both are picture cards (iii) One spade and One

d.

diamond car

(¢} Find mean and variance for the following data N
X 2 3 4 5 ' 6
PEO 012 018 0.24 0.32 0.16
8. (a) Describe the types of correlatwn
(b) 'Calculate Yank correlation coefficient for the foilowmg data :
x 10 | 12 10 12 13 115 | 14
ly 1L I3 11 12 14. 15 15 16
(¢} F ind the ;‘cgz_‘_ﬁ:ﬁsion elq:'.ia'ﬁ.('m for Y on X for the following data.
X 4 1 5 7 6 8
y {5 |7 | 9 i 8 | 10

9. (a) EDefme tilme series and describe methods of time series.
(b) FindIp Ip Ip for the following data :

(20)

Commodity | Base Year Price | Base year| Current Year | Current year
' quantity | Price quantity
Rice 3 6 6 12
Wheat 2 8 5 10
TURN OVER
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Oil 4 10 6 14
Pulses 4 5 6 7
(c) Find weighted aggrégative and weighted average index number for the following 7
data. o ' ‘ - '
Commodity Base Year price Current year Weight
Price B :
Food 2 -5 25
Clothing 3 12 40
Rent 5 12 30
Light & Fuel. S 12 25
10.(a) Explainthe folio#ving_tenn:s (i) Laplace criteria (ii) EMV (iii) Decision tree
(b) Find the best act using Laplace criteria and Minimax criteria
Action State of Nature
St 82 S3 S4
Al 24 | 20 1 20
A2 28 32 20 24
A3 16 20 16 16
A4 20 20 16 16
. {¢)  Drawadecisiontree and answer which action should be followed forthe following ? 7
. Patternofdata: ' : |
Action State of Nature 81 52 83
Probability 0.35 0.45 0.20
Al K 100 350 -100
A2 450 50 150




1. 201
Accodnding and fipancig; 7

‘Con, 95-15. Manageanen $D-2409
(OLD COURSE)
{3 Hours) _ [Total Marks : 100

N.B.: (1) From Section 1 question no. 1 and 2 are compulisory and attempt any one
question no. 3 and 4.
(2) From Section I question no. 5 and 6 are compulsery and attempt any one
~ question no. 7 and 8.
(3) Figures to the right indicate full marks.
(3) Working notes should part of your answer.

Section - |
1. From the following Trial Balance of M/s Rutuja Metals, Parel, prepare Tradingand 18
Profit & Loss Account for the year ended 31 March 2014 and the Balance Sheet as

on that date ;
Particulars : : Debit Credit

Rs, Rs,
Miss Rutuja's Capital 2,85,000
Stock in Trade on 1st April, 2013 75,000
Furniture 50,000
Bills Receivable 42,600
BillsPayable o 43,500
Purchases 3,52,800
Sales 4,94 600
Patents 25,000
Returns Inward _ 4,600
Returns Outward i 12,800
Drawing 24,600
Sundry Debtors ' 62,000
Sundry Creditors 53,600
Salaries : 52,150
Wages _ ' 27,900
Insurance ' s 6,300
T.egalan Professional Charges _ 4,500
General Expenses ' 18,300

TURNOVER
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" Discount received ' | 2,600
Loan from Mr. Ganesh @ 12%p.a.
taken on 1st November 2013 | 25,000
Interest on above loan 1,250
Bad debts 2,400
Advertisement 18,700
Reserve for doubtful debts 1000
Plant | 1,50,000
' 9,18,100 9,18,100

Adjustments
{a) Stock as on 31st March 2014 is valued at Rs, 1,62,500
(b) Depreciation Plant at 10% p.a., Furniture at 20% p.a.
(¢c) Ofthe debtors Rs. 2000 are bad. Provide reserve for doubtful debts at 5%
(d) Wages outstanding Rs. 5,100.
{e) Goodscosting Rs. 8,000 were destroyed by fire, insurance company admltted
claim for Rs. 5,000 only.
() Rutnja withdrew Rs. 2,000 per month which she charged to Salaries Account.

2. {ay State with reasons whether following are statements are true or false. 8

(i) Incomereceivable is shown on the asset side of the Balance Sheet.
(i) Loss by fire is shown on Debit side of Profit and loss A/c.
(i11)  Over valuation of closing stock results in over statement of profit.
(iv} Purchase of investments is credited to receipts and payments A/c.
(v) Alloffice expenses are debited to manufacturing A/c.
(vi) Discount received is allocated among different dcpartmcnts on the
basis of sales.
(vil) Return Inward are deducted from purchases.
(vi1i) Last in first out method of stock valuation is recognised by
Accounting Standard.

TURNOVER
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(b) Match the following and rewrite. ' 8

Column A Column B *

Saleof Scrap | - AS-1

Depreciation of Plant & Machinery | AS-2

Inventory Valuation AS-9

Revenue Regeipt Credited to manufacturing Account

Revenue Expenditure _ Repairs to Plant and Machinery

Capital Expenditure ' Debited to Manufacturing Accont

Revenue Recognition : Purchase of Furniture

Disclosure of Accounting policies | Interestreceived on Investments
Debited to Profit & Loss Account.

3. State whether these expenses are capital expenses, revenue expenses or deferred 16
revenue expenses.
{a) Interest paid on bank ovérdraft Rs, 50,000.00 to State Bank of India for
quarter ended 31st December 2014.
{b) Custom duty paid Rs. 35,000.00 on import of Raw Materials,
(¢} Purchased old plant for Rs. 20000.
(d) Rs. 300 were paid for the up-keep of a water pump.
(e} Paid andit fees Rs. 5,000 to Mr. Jayesh, our Chartered Accountant,
(f) Paid Rs. 1,000 for annual renewal of factory license.
{g) Reimbursed Rs. 12,500. Travelling expenses to Mr. Abhishek our salesman.
(h) Purchased 20 Box Files for office use at Rs. 20 per file.

4. Following is Receipts and Payment Account of Kawathewadi Sports Mandal forthe 16
year ended 3 1st March 2014. '

- Receipts Rs, Paymenfs ' Rs.
ToBalance B/d. | 7120 | ByAudit Fees 2500
To Member's Subscription | By Turnament Expenses 18000
2011-12 5000 By Building 32500
2012-13 87500 By Rates & Insurance 2010
'2013-14 4800 07300 | By Telephone 4250
To Member's Admission Fees 3500 | By Printing & Stationary 4330
TURNOVER
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To Miscellaneous Receipts 4260 By General Charges 5570

To Hire of Ground 6320 | By Honorarium to Secretary | 8400
To Tournament Contributions | 23000 | By Fixed Depositin Bank 60000
To Donations for Building 325060 | By Sports Equipment 12000
By Repairs & Maintenance 3740

By Salaries 14400

~ By Balance C/d 6300

174000 174000

Assets and liabilities As on 1st April 2013 were :

Particulars Rs.
Sports Equipment 13000
Prepaid Insurance 1200
Building ' 67500
Subscription cutstanding 5600
Printing and Stationary 600
Building Fund 67500

You are furnishedwith the following further information :

Subscription outstanding as on 3 1st March,2014 are Rs. 4,000/-. Fixed Deposit
with the bank carries interest at 12% per annum. Interest is accrued and due for
6 months. Write off 30% of Sport Equipments. Prepaid insurance amounts to -
Rs. 1,000/~ and the secretrary is to be given a bonus of Rs. 5,000/-

Prepare the Income & Expenditure Account for the vear ended 31st March 2014
and the Balance Sheet as the date.

TURN OVER
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: Section - 11
5. Mr. Shreenath does not maintain his books of accounts on double entry book keeping 18

system. He supplies you the following information.
{a) Assestsand Liabilities as on 15t April 2013 and 31st March 2014

Particulars - Ist April 2013 Rs. | 31st March 2014 Rs.
Sundry Debtors 11200 - 8200
Stock | 12750 | 16800
Sundry Creditors | 12410 9870
Furnpiture 12000 12600
Machinery 17560 7
Cash and Bank ‘ 500 4100

{b) Assests and Liabilities as on Ist April 2013 and 31st March 2014

Payment made to creditors . 17,500
Salaries | 7330
Cash Sales e
Received from Debtors 39540
Capital Introduced 5000
Carriage 8210
Office Expenses - _ 2900
Purchase of Machinery - . 5000
Drawings | : 6000

Discount allowed were Rs. 600 and discounts received Rs. 560. Bad debts written
off were Rs. 400. Depreciation is to be provided on Furniture @ 20% p.a. and on
Machinery @ 10% p.a. Salaries outstanding Rs. 1000.

Prepare Traiding Profit and Loss Account of Mr. Shreenath for the year ended 3 1st
March 2014 and Balance Sheet as on that date.

6. (a} Statewith reasons whether following are statements are true or false, 8
(iy Discount allowed is credited to Sundry Debtors Ale,
(i1)  Rentis allocated between various departments on the basis of area
occupied.

TURN CVER



(ifi)  Returns Outwards are debited to Sundry Creditors A/c
(iv)  Sundry Debtors A/c is prepared to find out credit sales.
(v} Bills payable A/c is prepared to find credit purchases.
(vi)  Gross profit 25% on sales is same as 20% on cost.
(vil) Discount received is debited to profit & loss A/c.
(viii)  Bills receivable discounted are debited to debtors A/c.

(b) Maich the following and rewrite. ’
Column A Columnn B
Sundry Debtors A/c Credit Purchases
Opening Balance sheet Credit sales
CashAlc Credit to Debtors A/c
Sundry Credifors A/c Net Profit _
Profit & Loss A/c " No Proper books of Accounts
Single Entry System Opening Captial
Discount Allowed Cash Sales
' 16

From the following particulars of Rajendra Hardware Stores having two departments
namely, Hardware & Paints prepare Trading and Profit and Loss Account of the two
departments in columnar form for the year ended 3 Ist March 2014.

Hardware Rs. Paints Rs:
Opening Stock ' 86,400 1,01,300
Pucharses 4,26,800 5,64,300
Carriage Inwards 5,000 4,000
Wages 14,000 11,000
Sales 7,15,700 8,12,900
Return Inwards | 15,700 12,900
Retum Cutwards 6,800 4,300

TURN OVER
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Rs.
 Discount Received 7,700
Rent and Rates 38,000
Travelling Expenzts . 33,000
Carriage Qutwards 49,500
General Expenses 18,000
Advertising 45,000
Discount Allowed 3,900
Insurance 6,800
9,900

Selling & Distribution Expenses

The further information is relevant :

SD-2409

. (a) General Expenses and insurance are to be allocated intheratio 2: 3
(b) The area occupied is Hardware 4/5 and Paints 1/5.
(c¢) The closing stock of the two departments weee hardware Rs. 1,24,800,

Paints Rs. 1,68,700.

(d) Other expenses and incomes to allocated between the two dep artments

on a suitable basis.

(e) During the year Hardware Department transferred goods costing Rs.

15,000 to paints department.

8. Vishal Pharma Traders gives you following information regarding one of their stores

itern for the month of March 20185,

March 1 Stock in hand S50 kg @ Rs. 10
Purchases :
March 3 550 kg. @Rs. 10/Kg.
March 10 1016 kg. @Rs. 11/Kg.
March 18 660 kg. @Rs. 12/kg.
“March’ 24 530 kg. @Rs. 13/kg.
TURN OVER
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8
March 30 470 kg. @ Rs. 14/kg.
_ Issues :
1. March 2 420 kg.
2. March 9 510 kg.
3. March 16 970 kg, |
4. March 23 540 kg.
5. March | 31 620 kg,

You are required to prepare stores ledger A/c under FIFO and Weighted Average
Method of Stock valuation.

[TURN OVER



Con. 95-15, -3 SD-2409

(REVISED COURSE)
(3 Hours) [Total Marks : 100

N.B.: (1) From Section I question no. 1 and 2 are compulsory and attempt any one
question no. 3 and 4.
{2) From Section II question no. § and 6 are compulsory and attempt any one
question no. 7 and 8.
(3) Figures to the right indicate full marks.
(3) Working notes should part of your answer.

Section - I
From the following Trial Balance of M/s Rutuja Metals, Parel, prepare Tradingand 18
Profit & [.oss Account for the year ended 31 March 2014 and the Balance Sheet as
on that date :

Particulars Debit Credit
Miss Rutuja’s Capital | 2,85,000
Stock in Trade on Ist April, 2013 ‘ 75,000
Furniture ' 50,000
Bills Receivable 42,600
Bills Payable 43,500
Purchases ' 3,52,860
Sales ' 4,94,600
Patents 25,600
Returns [nward ' 4,600
Returns Qutward 12,800
Drawing 24,600 ‘
Sundry Debtors 62,000
Sundry Creditors 53,600
Salaries 52,150
Wages 27,900
Insurance _ 6,300
Legal an Professional Charges 4,500
General Expenses - 18,300

TURN OVER
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Discount received 2,600
Loan fyom Mr. Ganesh @ 12%p.a.
‘taken on Ist November 2013 o B 25,000 |~
Interest on above loan 1,250 '

Bad debts 2,400

Advertisement 18,700

Reserve for doubtful debts . 1,000
Plant -~ 1,50,000

9,18,100 9,18,100

Adjustments :

(a) Stock as on 31st March 2014 is valued at Rs. 1,62,500

(b} Depreciate Plant at 10% p.a., Furniture at 20% p.a.

(¢) Ofthe debtors Rs. 2,000 are bad. Provide reserve for doubtful debts at 5%

(d) Wages outstanding Rs. 5,100.

(e) Goods costing Rs. 8,000 were destroyed by fire, insurance company admitted

claim for Rs. 5,000 only.

(f) Rutuja withdrew Rs. 2,000 per month which she charged to Salaries Account.

2. (a) State with reasons whether following are statements are true or false,
(i) Income receivable is shown on the asset side of the Balance Sheet.
(i1) Loss by fire is shown on Debif side of Profif and loss A/c.
(iii)  Over valuation of closing stock results in over statement of profit.

(iv)  Hire purchase price = cash price + interest.

(v} All office expenses are debited to manufacturing A/c.

(vi) Discountreceived is allocated among different departments on the

basis of sales.

(viiy Returns Inward are deducted from purchases.
(viif) Last in first out method of stock valuation is recognised by

Accounting Standard.

TURN OVER
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(b} Match the following and rewrite. 8

Column A Column B
Sale of Scrap AS-1

- Depreciation of Plant & Machinery AS-2
Invetory Valuation AS-9
Revenue Receipt ' Credited to manufacturing Account
Revenue Expenditure Repairs to Plant and Machinery
Capital Expenditure - Debited to Manufacturing Accont
Revenue Recognition Purchase of Furniture
Disclosure of Accounting policies Interest received on Investments

Debited to Profit & Loss Account.

3. State whether these expenses are capital expenses, revenue.expenses or deferred 16
revenue expenses.
(a) Interest paid on bank overdraft Rs. 30,000.00 to State Bank of India for
guarter ended 31st December 2014.
(b) Custom duty paid Rs. 35,000.00 on import of Raw Materials.
(¢} Purchased old plant for Rs. 20,000. :
(d) Rs. 300 were paid for the up-keep of a water pump.
(¢) Paid audit fees Rs. 5,000 to Mr. Jayesh, our Chartered Accountant.
(f) Paid Rs. 1,000 for annual renewal of factory license.
(g) Reimbursed Rs. 12,500. Travelling expenses to Mr. Abhishek our salesman.
(h) Purchased 20 Box Files for office use at Rs. 20 per file.

TURN OVER
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From the following particulars of Rajendra Hardware Stores having two departments 16

namely, Hardward & Paints prepare Trading and Profit and Loss Account of the two

departments in columnar form for the year ended 31st March 2014

Hardware Rs. Paints Rs.
Opening Stock 86,400 1,061,300
Pucharses 4,26,800 5,64,300
Carriage Inwards 5000 4000
Wages 14,000 11,000
Sales 7,135,700 8,12,900
Return Inwards 15,700 12,900
Return Outwards 6,800 4,300
Rs.
Discount Received 7,700
Rent and Rates 38,000
Travelling Expenses 33,000
Carriage Outwards 49,500
(General Expenses 18,000
Advertising 45,000
Discount Allowed 3,900
Insurance 6,800
Selling & Distribution Expenses 9,900

The further information is relevant :

(a) General Expenses and insurance are to be allocated in theratio 2 : 3

(b) The area occupied is Hardware 4/5 and Paints 1/5.
(c) The closing stock of the two depa

Paints Rs. 1,68,700.

rtments were Hardware Rs. 1,24,800,

(d) Other expenses and incomes to allocated between the two departments

on a suitable basis.

(e) During the year Hardware Department transferred goods costing Rs.

15,000 to paints department.

& -
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Section - X1
5. Mr. Shreenath does not maintain his books of accounts on double entry book keeping 18
system. He supplies you the following information.
(a) Assests and Liabilities as on 1sf April 2013 and 31st March 2014

Particulars ~ IstApril 2013 Rs. | 31stMarch 2014 Rs.
Sundry Debtors 11200 8200
Stock - | 12750 16800
Sundry Creditors | 12410 9870
Fumiture | 12000 12000
Machinery 17500 ?
Cash and Bank | 500 4100

{(b) Assests and Liabilities as on 1st April 2013 and 31st March 2014

Payment made 1o creditors 17,500
Salaries 7330
Cash Sales - 2
Received from Debtors 395490
Capital Introduced | 5000
Carriage 8210
Office Expenses 2900
Purchase of Machinery 5000
Drawings - | 6000

‘Discount allowed were Rs. 600 and discounts received Rs. 500. Bad debts written
off were Rs. 400. Depreciation is to be provided on Furniture @ 20% p.a. and on
Machinery @ 10% p.a. Salaries outstanding Rs. 1000. _
Prepare Traiding Profit and Loss Account of Mr. Shreenath for the year ended 31st
March 2014 and Balance Sheet as on that date.

6. (a) State with reasons whether following are siatements are true or false. 8
(1) Consignee is agent of Consignor. '
(i) Cost Price + Loading = Invoice Price.
(iiiy  Branch Stock A/cis Real A/c.
(iv)  Godown Rent paid by consignee is not considered while valuing

closing stock. TURN OVER
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{v) DBranchA/cis Real A/c,
{vi) Bad Debts are to be borne by consignee.
{vii) Bad Debts are debited to branch a/c under debtor method.
(viii) Branch Stock a/c is always maintained at cost price.

(b)Y Match the following and rewrite. 8
Column A | ColumnB
Sundry Ijebtors Alc Credit Purchases
Opening Balance sheet Credit sales
CashA/c Credit to Debtors A/c
Sundry Creditors A/c | Net Profit
Profit & Loss A/c No Proper books of Accounts
Single Entry System Opening Captial
Discount Allowed Cash Sales

7. M/s.Malkani Pesticides, Kalayn has a branch at Solapur. All purchases are made by 16
head office. (Goods are sent {0 Branch at invoice price which is cost plus 50%.
Branch does not maintain double entry books of accounts, the books are kept at
head office. Branch sell goods for cash as well as on credit. All the expenses of
brach are paid by Head Office and all cash from cash sales and debtors is sent to
head office every day. From the following information supplied to you, ascertain
profit made by branch under Debtors System in the books of head office for the
year ended 31st March 2014.

Particulars Rs, Rs.

Stock on 1st April 2013 (at invoice price) 2,23,500
Debtors on 1st April 2013 - | 64,950
Goods sent to branch (at Invoice Price) ' 7,45,200
Remittance to Head Office -

Cash sales 2,69,000

Cash received from debtors 504,000  7,73,000
Good returned to Head office (at Invoice Price) 136,000
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Cheque received from Kalayan Head Office :

Wages and Salaries 27,500
Rent and Rates 37,500
Printing and Stationery 21,270
Sundry Expenses 18,760 83,700
Bad Debts at branch - 5,310
Discount allowed to debiors 7.240
Goods retumedby debtors : . 12,400
Stock on 31st March 2014 (at invoice price) 3,42,000
Debtors on 31st March 2014 | N
© CreditSales 5,54,800

8. Neil of Latur consigned on 1st January 2015, 800 Hard disk costing, Rs. 1500 per
piece to Denis of Barshi. Freight charges incurred on the consignment were Rs.
25,500. On 1st January 2015 Neil drew a bill on Denis for Rs. 4,50,000 payable on
31st March 2015 which was duly accepted by Denis. The bill was discounted by
Neil with his bankers on the same day at 12% p.a. discount to be treated as
consignment expenses. Denis rendered account to Neil on 31st March 2015 showing
cash sales of 300 Hard Disk at Rs. 1700 per Hard Disks and credit sales of 500
Hard Disks at Rs. 1800 per Hard Disk. He incurred selling expenses of Rs. 44,080
Denis was entitled to a commission of 10% and additional 2% as Del Crdere
commission. On 31st March 2015 Denis remitted to Neil the amount due to him.
You are required fo prepare consignment Account and Denis's Account in the books
of Neil and Neil's Account in the books of Denis.







